N EHE T

1

(2019.10.2 SEfit)

YRS — R TRER & R

1+ 29+ 23— 314 +225=0
SZL’1+ 6$2+4JI3+2$4— ZL’5:O
5x1 + 10xy + 623 — 424 + 325 =0
21’1 + 41‘2 + 31‘3 + 5£B4 — 3$5 =0

(1)

21 — 4x9 4+ Hx3 =5
Ty + 3£L'2 - 21’3 = —10
—3Q31 — 21’2 — 4%3 = —06

(3)

( $1+3ZE2+ 7333+5334:0
2x1+4x2+ 81’3"‘61’4:0
$1+5$2+13LB3+9$4:0
k3[L’1—*—61’2—*—12£L‘3—|—9£L‘4:0

201 + X9+ 223+ x4=3
31‘1—2$2+6$3—3{L‘4:1
4$1+35L’2+3l’3+2$4:2
k5.1'14‘ $2+3$3+6£L‘4:—4
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YR DI — R B FRR A E B 2 R & D 7= D DS % sRed &

2.1[1 + 4.1[2 + 5%3 =0 3.1'1 + 31’2 — (5 + CZ)$3 =0
(1) § 321 + Txe + 223 =0 (2) 6z, + (4 —a)xs — 6x3 =0
T + 21’2 + axrs = 0 (1 - (l)l’l + 31’2 — 3.%‘3 =0
KD — IR SRR RN KD 72 D D&M % 3K &
52, + 1729 — 1325 = 2 201+ 312+ T3+ 50 = p
—x1 + dbry — Tx3+4xy =q
2x1 4+ 9x9 + 213 =20 Oy + s 4 Ilwg + Ty =7
! 2 3 —3x1 4+ 13— Sr3+24=35
WOITRI DS A R k. % 72 RIS 04751 % kb & .
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W29 9| @ |-41-6] 3 (4)
314 14 1 2-5 270979 Lol
1-13 1 1214
WDITHIDITHI R % Kb k.
N o 15 3 2 A—3 —2 —4 -1
317 2 4 5 A+2 8 -1
Wl 1 » 3| @4 36| 3 (4)
IR B 211 4 —3 2 0 A—4 2
423 -1 2 5 -2 -8 A+l
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(1) 2 Tanfla — Tanfl? (2) cos (Tan 'v/15)
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(1) f(x) = Tan"" (22 + 1) 1T 3 /() (2) f(z) = log|z® — 3z + 2| IZXF 5 M) (x)

(3) f(z) = 2?sinz 1ZxF 3 f)(z)
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. V1+a? (2) log(z + V1 + 2?)
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g O8I0 2 = 6+ @7 . Tan 'z —2
(1) glglg% e — 1 — 13 (2) 916%7
(3) 1Lm (aTan—lg)l“ (a>0 Liiiﬁ) (4) hi% (ta;lg;) 22
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(1)/$2Tan_1:vdx (2) /12695—+1dx 3) /077/3 dx

32+ —2 14+ 2coszx



